
��
��

Presto

G��
p

5 5 5 5 5M 5 5 5M 5 : 5� 5 5 5 5 5M 5 5 5
M 5 : 5� 5 5 5 5 5M 5M 5 5 5 5 5M 5M! 5 5

��� = = 55M =
555
M

= 55M = 4 = 55M =
55M =

555M = 4 = 5555M = 4 = 5555M!� = 4 =

7G�� 5 5 5M 5 5 5M 5 = 4
���

555M =
555
M

= 5 = 5
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Example 4.17
Haydn, Symphony No. 98 in B-flat
fourth movement, 1–8

1

Analyzing Classical Form
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Andante

G���� 5BM 5 5 55 55 55 �5BM 5 5 5M 5 5 5 55M 5 5� = 5
�!5M 5 5!� = 5�

����� 5M 5 5 5 5 5 5 5 5 5 5� 5! 5� = 4 G 55� 55
� = 4

����� BM 5 5 5 B! M 5M = 4 5! 5� = 4

80G����
�5M 5 5� = !55 5M5 5M5

� 5 5 5 5555� 55 55 4

G���� 55� 55
� = �5 5M 5� 5 5 B

4

����� 5! 5�� = 5 5 5 5 B 4
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Example 4.18
Mozart, Fantasia for Organ in F minor, K. 608
75–82

1

Analyzing Classical Form
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Presto

GEE 55 55 55 55 55 4 55 55 55 55 55 4 55 55 55 55 55 4 55 55 55 55 55 4
�EE 4 BM 5K 4 4

B 5 5 4 4 BM 5K 4 4 BM 5 4
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Example 4.19
Haydn, Piano Sonata in D, H. 24
third movement, 1–8

1

Analyzing Classical Form
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Adagio con
molto espressione

G =
p
55
� =

55
� =

55
� =

55
� =

55
� =

55
� =

55
� =

55
� =

55
� = 55M

� 55M 55M 55M 55M
G

p

k5�
5 5 5 5 : 5 5 5 5

�E 5 :: 5 5 :: 5 5 :: 5 5 :: 5 5 �E5 5 5 5M

� = 5555� = 5555� = 5555� = 5555� = 5555� = 5555� = 555� = 5555� = 5555� = 5555M
�
5555M 5555M 5555M 5555M

5

G =
p
55
� = 55

� = 55
� = 55

�
55 55 55 55 = 55

� = 55
� = 55

� = 5� 5�

G
sfp

5 :: 5 5 :: 5 5 : 5 5 5 :: 5 5 8 5E 5

sfp

5 5 5 5M 5 : 5 5 5! : 5 5 5 : 5 5 5 5�
� = 5555

� = 555� = 555� = 5555M�
5555M 5555M 5555ME 5555M =

555� = 5555
� = 5555! �

= 555 55
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Example 4.20
Beethoven, Violin Sonata in E-flat, Op. 12, No. 3
second movement, 1–8

1

Analyzing Classical Form
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Allegro

G
p

5�5M : 5M 5M 5M 5M B 5�5M : 5M 5M 5M 5M
sf

5 5 5 5� =5
�5M : 5M 5M

sf
5M 5M

sf
5ME 5M

sf

5M B
8

555E 5 4
� 4 4

55M 55M 55M 5M 4 4 G55M 55M 5 :5 = 4 4 55M 55M 55M 55M 55M
� 4 555M 555

M 55 55�

Copyright © 2013 Oxford University Press

Example 4.21
Beethoven, Violin Sonata in C minor, Op. 30, No. 2
third movement, 1–8

1

Analyzing Classical Form
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Allegretto

G� 5 55 5 5 5 5 5 5 55 5 5 5 5! 5 5 5 5� 5 5 55 5 5 5 5 5 5 5 5 5 5 5 5 4
�� 4 5 5 5 5 5 5 5 5 5 5 5 5

5 5E 5 5 5 5 5 5 5 55 5! 5 5! 5 5� 5 5 5 5
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Example 4.22
Beethoven, Piano Sonata in F minor, Op. 2, No. 2
third movement, 66–73

1

Analyzing Classical Form
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Largo
appassionato

GEE tenuto sempre

55 55 55 55 BB BB 55 55
� = 4 4

�EE
staccato sempre

55
M�
3 5
M�
3 55
M�
3 5
M�
3 55
M�
3 5
M�
3 55
M
3 5
M
3 B5M

3 5M
3 5M

3 5M
3 B
5M
3 5
M
3 5
M
3 5
M
3 55M 3 5M

E 3 5�5� E5� B5 5 5! 5 5

5GEE
55 55

sf

55 :: 5 B 5 5 55 55 5 5 � 555 555
�5 5 5 5 5 5

�EE 55M
3 5M

3 55M
3 5M

3 5M
3 5M

35 : 5 B 5 55 5 5 5 5 5
5 55 5 5 555 5 5 5

5 :5 5 5 5
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Example 4.23
Beethoven, Piano Sonata in A, Op. 2, No. 2
second movement, 1–8

1

Analyzing Classical Form


